
1) (-42) x (-37)

Answer: ____________

2) 839 + (-480)

Answer: ____________

3) Convert the following mixed number 
1316/10 to an improper fraction.

Answer: ____________

4) (-682) ÷ 31

Answer: ____________

5) Decrease 166 by 1/83

Answer: ____________

6) 3/17 + 16/2

Answer: ____________

7) Decrease 273 by 2/91

Answer: ____________

8) Find the percentage change from 10 to 
92.3

Answer: ____________

9) (-641) - 433

Answer: ____________

10) 181/18 x 152/3

Answer: ____________

11) 17   5/16 - 12   7/12

Answer: ____________

12) Convert the following mixed number 
711/13 to an improper fraction.

Answer: ____________

13) An amount was increased by 6.4% to 
$115.99. Find the original amount.

Answer: ____________

14) 19/3 - 13/6

Answer: ____________

15) Convert the following mixed number 
149/2 to an improper fraction.

Answer: ____________

Copyright 2018 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

February 21, 2018

Sr: 21022018-115
 

http://www.geekschool.co.uk


16) 222 + (-908)

Answer: ____________

17) 19   10/15 - 19   8/12

Answer: ____________

18) (-608) + (-104)

Answer: ____________

19) 11/5 - 9/14

Answer: ____________

20) Convert the following mixed number 
617/11 to an improper fraction.

Answer: ____________

21) (-469) + (-811)

Answer: ____________

22) 16   4/10 - 9   3/4

Answer: ____________

23) (-18) x (-38)

Answer: ____________

24) 4   7/19 - 8   6/18

Answer: ____________

25) 7/1 - 2/4

Answer: ____________

26) Decrease 190 by 3/95

Answer: ____________

27) Convert the following improper 
fraction 172/12 + 418/19 to a mixed 
number

Answer: ____________

28) 20/11 - 3/7

Answer: ____________

29) Convert the following improper 
fraction 194/10 + 131/2 to a mixed 
number

Answer: ____________

30) Find the percentage change from 1.6 
to 96

Answer: ____________
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31) 28/10 ÷ 518/19

Answer: ____________

32) Decrease 148 by 2/37

Answer: ____________

33) 9/
10 ÷ 12

/19

Answer: ____________

34) 17/16 - 14/19

Answer: ____________

35) Increase 80 by 3/40

Answer: ____________

36) 14/6 - 5/8

Answer: ____________

37) Convert the following mixed number 
108/15 to an improper fraction.

Answer: ____________

38) 687 + (-987)

Answer: ____________

39) An amount was increased by 5% to 
$214.00. Find the original amount.

Answer: ____________

40) Find the percentage change from 50 
to 19

Answer: ____________

41) (-792) ÷ (-36)

Answer: ____________

42) Find the percentage change from 30 
to 78

Answer: ____________

43) An amount was decreased by 4.3% to 
$190.11. Find the original amount.

Answer: ____________

44) 34% of 67

Answer: ____________

45) Find the percentage change from 12 
to 24

Answer: ____________
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46) 276 - (-262)

Answer: ____________

47) Increase 296 by 1/148

Answer: ____________

48) Convert the following fraction into a 
mixed number: 18/6

Answer: ____________

49) Convert the following mixed number 
710/9 to an improper fraction.

Answer: ____________

50) 10/7 - 3/6

Answer: ____________

51) 9   18/19 - 17   13/14

Answer: ____________

52) 35% of 59

Answer: ____________

53) 10/
19 ÷ 6/13

Answer: ____________

54) 16/8 - 5/7

Answer: ____________

55) Convert the following mixed number 
67/18 to an improper fraction.

Answer: ____________

56) 3/15 - 1/16

Answer: ____________

57) Convert the following mixed number 
23/16 to an improper fraction.

Answer: ____________

58) 4   1/5 - 14   7/12

Answer: ____________

59) 179/16 ÷ 172/3

Answer: ____________

60) Find the percentage change from 36 
to 45

Answer: ____________
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61) 15/14 + 15/7

Answer: ____________

62) 807 - (-868)

Answer: ____________

63) 33% of 59

Answer: ____________

64) 42 x (-38)

Answer: ____________

65) (-576) ÷ 36

Answer: ____________

66) 330 - (-821)

Answer: ____________

67) 20/16 + 4/18

Answer: ____________

68) Convert the following fraction into a 
mixed number: 15/13

Answer: ____________

69) 8/
17 ÷ 2/10

Answer: ____________

70) Convert the following mixed number 
79/10 to an improper fraction.

Answer: ____________

71) Decrease 224 by 1/112

Answer: ____________

72) 18/5 + 7/5

Answer: ____________

73) 10/10 + 10/12

Answer: ____________

74) (-538) - (-258)

Answer: ____________

75) 5/1 x 3/6

Answer: ____________
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76) 61/13 ÷ 124/5

Answer: ____________

77) (-646) ÷ 38

Answer: ____________

78) 5/61 of 183

Answer: ____________

79) Convert the following mixed number 
162/11 to an improper fraction.

Answer: ____________

80) 8/
13 ÷ 9/16

Answer: ____________

81) (-930) - (-376)

Answer: ____________

82) 72/20 x 201/2

Answer: ____________

83) 5/
5 ÷ 16

/18

Answer: ____________

84) 3   10/11 - 13   3/16

Answer: ____________

85) 3 x (-17)

Answer: ____________

86) 101/6 x 514/15

Answer: ____________

87) An amount was increased by 8% to 
$300.00. Find the original amount.

Answer: ____________

88) An amount was increased by 8% to 
$313.00. Find the original amount.

Answer: ____________

89) Convert the following fraction into a 
mixed number: 32/4

Answer: ____________

90) (-480) + (-195)

Answer: ____________
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91) 4/55 of 275

Answer: ____________

92) Convert the following fraction into a 
mixed number: 28/5

Answer: ____________

93) 7/18 + 11/6

Answer: ____________

94) 91% of 93

Answer: ____________

95) 12/16 + 15/8

Answer: ____________

96) (-841) ÷ 29

Answer: ____________

97) Convert the following mixed number 
116/17 to an improper fraction.

Answer: ____________

98) 80% of 75

Answer: ____________

99) 67% of 60

Answer: ____________

100) (-92) ÷ (-23)

Answer: ____________

Total: ___ / 100
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Answers:

1) 2) 359 3) 73/5 4) -22 5) 164 6) 83/17 7) 267

8) 823% 9) -1074 10) 28247/54 11) 435/48 12) 102/13 13) $109.01 14) 41/6

15) 37/2 16) -686 17) 18) -712 19) 139/70 20) 83/11 21) -1280

22) 613/20 23) 24) 755/57 25) 61/2 26) 184 27) 2213/114 28) 130/77

29) 329/10 30) 5900% 31) 266/565 32) 140 33) 117/40 34) 99/304 35) 86

36) 117/24 37) 158/15 38) -300 39) $203.81 40) -62% 41) 22 42) 160%

43) $181.94 44) 22.78 45) 100% 46) 538 47) 298 48) 3 49) 73/9

50) 13/14 51) 15261/266 52) 20.65 53) 18/57 54) 12/7 55) 115/18 56) 11/80

57) 35/16 58) 2023/60 59) 843/848 60) 25% 61) 33/14 62) 1675 63) 19.47

64) 65) -16 66) 1151 67) 117/36 68) 12/13 69) 26/17 70) 79/10

71) 222 72) 50/1 73) 15/6 74) -280 75) 21/2 76) 395/832 77) -17

78) 15 79) 178/11 80) 111/117 81) -554 82) 14511/20 83) 11/8 84) 1949/176

85) 86) 6029/90 87) $277.78 88) $289.81 89) 8 90) -675 91) 20

92) 53/5 93) 22/9 94) 84.63 95) 25/8 96) -29 97) 33/17 98) 60

99) 40.2 100) 4
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